Tables are uns of the commaonest and carliest
wag of storing and tabuwating data, Tabulation
is the systomutic and scieriific prosentation of
quantitative data in auch aform that it is able
tr 2lucidate the prollem under consideration.
Anaspiranl lscrpected to be able to go through
a table, gquickly and cffectively Le. with
understanding. Basantals of a tuble: There are
gix essetial clements of o table—

{1 Title {21 Stub {mectlon containing row
heading) (3) Celumn captam theading of each
eolumn {4) Body {5} Paotnules (8} Soures

INTERPRETATION OI' DATA

1t iz bused mn the carcful assessmont of the

fzures (numbery given in the table, In this

process we abalyze Lhe enkries and subentries

in the table and derive conclusions regarding:

{1} mazicum and minemam

) masinium S plnimuem rate of “nureasg OF
devrease '

# mpreent change in an entry frem the
previsus entry

(4] anycecentric behaviour of cptries

(i} mnature of dependent variableele.

IMPORTANT POLNTS EQR STATISTLCAL
ANALYSIS

Ratio and proportionyga ratic represents
relaticn between partand varl whereax
proporuien renressnla o relalion between part
anid whale. Thezo)ardVvery important in
interpretation of data,

Percentage: The word percont means
hundredth )We @2k the symbal %" e expreas
the word®poree 1", For example. "17 peroent!
mfens W7 Bundredlhs, and can be wmtten
with 2 Hearmhol, we a fraction, or as adecimal.
o provide o derimal bu a poveent. move the
dostmal point twu places to Whe right, adding Os
ibnecesaary, and add the % avmbol.

Ta convert A Tractiom wu u pereent, frst comvert
the fraclion to 2 decimmal, and then convert Ehe
decimmal to g percent, as indicalted above.

DATA ANALYSIS AND INTERPRETATION
(TABLES AND GRAPHS)

N.575 = 37.8%, U= 30%, 10 =1000%

WMany guestions involving pevcents can
aetually be answered more guicklyif%euw fisad
than by using paper and pencil Sice, tlke 10%
of o number, jusl divide by L@byamovigg the
decimul point one place to the left: IO Ll 60 is
6. Alen, since 5% is half of\10% JLhen 5% of
60 iz 3 {hall ol 6); and sinee 0% Limes 10,
Lhen 306 ol 60 1= N3, = 6],

Hates: A ratio (Besfrcen two magmiudes
nsually showmn et g period o me iz calied
rade or ratolef chaage. This ratino helps us in
find:ng the rate of chanpe over 2 period of time.
IFane teacher io-Boice paid at a rate Re.300 per
clngs ahddthomltis paviment. increases o Re 600
per clags, it iz obvious Lhal his payment
incregsed Iy 20%0,

Tepes'of ratio: (1) Part te whale; {2) Part to
part? (3] Whole to whole

Thore i2 nat much theoretical background taat
ean Le given abour tables: you are familka with
them and vou have been uaing them amee
schnol days, However, some general hints cun
be supplied:

(i) Youshodd make sure Qial you look at Lhe:
pitire table or eraph. Somothnes some
Leivial-locking portions may be overlooked
b A noen-carcful examinec.

Be copsrioar and awave of Lhe anits nsed
in the table or gzraph. Make sure that you
BXPECES YOUr ARSWET in correct unils.
(££i) A very common mistake in such types at
questiona ariacs due ¢a cnnfusion hetween
derimals and percentauges. Don's confuse
deeimals with percontazes and vis versi.
For example, if the unils arc percentages
and an enley is given o be 3 then it
cqual to 3% which equals 003,

1t would be adwisanle to leok at anawers
hefore attempting a caloulation, Sinee the
test a<ks for only an approximate aaswer,
aven x mental serutinizing may Jead to an

{ii)

i}



1)

(i)

ANSWCE 0l & redascnably correct degree; |

savng effort and time,

Again, since vou are asked to furnish only
an approximate answcr, you mayv round
off ovr approximate the various quantities

durmg caleulation. IMor example if yon arc

10237

789
You may spproximate 192 to 2 and 2 =

Lo caleudsle

-

e

5.7, T80 8 anuLLhenﬁudnuLz P =042
Yail must bBase your anewer to cach
guesteon only on the information in the
given charts and grapha If vour
kovwledpe comtradicts anv of the data
presented in the grachs, ipnove what wouw

Enowr Irst of atl, you may be misiaben:
but more unporlant, the data may refor to
a difforent, unspecifiod locatinn or vear In
any case, always hage vour answer nn the
plven dala.

fofi) Froiadly, you should check O the aoswer

TARLE
Direction : Sfudy e follmoing toble cond answer the guesilons bigsed on it

FROJECTED ANI? ACTUAL PRODUCTION OF CARS OV SPIFFERENT COMPANTRES
{Number in 300

maker any acnse. Befors corfirming vous
answer, lake @ zecond Lu be sure that it 1s
reggcnable. Frem Lhe lope of eitfiatien
you shold reabize that earning Saldon®
exceed sales. 30 by tosting vowsanswer for
reasonableness, vou will Tedlize that wu
miade & mastake. Remembap that)if you
dent know how to sélve problemm, you
must puces i order b omovd on. Before
pueseing, however, chock tefeee 1f one or
more of the chodces are unreazonable. [T
aa, clininated therm.

A H C I E
YEAR | Projected | Actual | Projected | Aclwu] | Projmted|  Agtos| Profeeted | Actoawl  |Projertad| Artoal
ibs7 22 Ly 15 12 21 ) 22 16 P 40
1983 25 21 21 14 it 18 21} i3 15 16
1934 24 15 15 14 20 20 22 21 20 13
1840 29 11 14 110 a0 an il 2 23 14
1691 o8 k] 15 In 31 28 28 24 1 17
1902 31 ] ol 15 35 31 40 25 28 203
1. Which company has the high@se actual actual production of cars over these 'f,-'ears‘?
production of cars ovef thBs: yRars? {al A i B
) A thi H {op © oy B
{o id) <D ¥ E
oy K . What 1s the approximate % acteal

2. Which yeas hag k& lowest projarted

production of fassaf 1l the 5 compardcs?
(a) 1947 by 1989

{e) 19090 idy 1902

(&) Wone of these

3. _Aihabis thepereontage of setual production

ol caws pompaved to the projected production
ofcara of compuany 12 in vear 1985

{a} B thy 36

iy 90 iy 82

) Mone of those

4, Which compuany has continoous inorease o

production of cure comipared tn rhe projectad
production of cars of B over these veara
{1987-19491)7

{a} B0 ihy 78
fe} 82 idy 74
ey 77 .

Solution: L O W nuickty o through the
column of actual-produaetion for difforent
companizs amd note that D A and O lonk like
the top prodweers. Hew do we note this? We see
that all the entries lor & are ovar 20; for O, only
entry in _oas than 20 bul Lhe later eodriee have



touched 3 0 und for D, on'y twe entries are less
than 20 bt the entrics ave gradually Tising, wo
quickly add up the enteics of these 3 comdanies
and fnd Lhat Cis the higheal produeesn.

2 1957 (by simpls nepectiony: 3. 90% (187 90%
of 90 4, 1 5. TA%.

GRAPHS
1. CIRCLE GRAPHS (PIE CHARTES)

Civeular Craphs are uased o zhow how various
anctorz shara in the whole, Sometincs they are
also refermd Lo as pie, chiarts. The percentage of
gach sertor 1 usually denoted in o circls graph.

Tircctions: fefor to ihe following pre charis,
C'ollege Enrollment, by Age and Sex:
1975 and 1925

Frarzle. besa [lian
Saim s a0 2% P 25 years pid
1 ymurd g a0
135
Famale, 25 y=am
Mk, D7 waam od o and o
.
-

1Th

Waly, lues han ?5
¥=arF 0
g -II

Farnale, ks an
25 yearsakd
X%

Male, 23 ymars old
3 rr
15 Freid A, 21 yEars
e 1
WO |

1995

Saurce: L8 Pureow of the Censtis, Cirrend

Poparlation Survey

1. If there were LGNO0 DD oge students in
1975, how manyimnregmale students were
Uere thin ferfale gtudents?
() SO0 B 1,500,000
(e} 2,400,000 r 5,400,000

2 T @855 what percent of fomale eollege
siudentiawere ot least 25 yenrs uld?

yarala iy 30%
ey 42% iy 6%

foy 7%

5 1 the total number of students enralled in
college was 40% higher v 1885 than in
1975, what iz the ratio of the number of
ale students 1 1995 Lo the number of
maln studentsin 1975

1) 3:6 b G
IR iy 65
{e] T:0

Salutions :

I (2) brom the top graph, wezes thatin 1975,
54% (365% + 19%0 of all college students
wore male, and tho ovher 46%  weld
ternale. So there were 3,100,000 male
and 4,600.000 feriales - a ditferface of
K00, 0{H).

2, by 1r 1975, of overy 104 college Giudents, 16
wore “emale - 32 of whomewete lizeathan
25 vears old, and 14 Af whom were 25
vasys old and over. 3@, 14 of evory 46
fomale studens wors al ledst 25 vears

(4

uld, Finally, L3 =00%

¢y brom the twf‘f gragths. we see lat in
1974 R (3&% 1 19%) of all cnllese
studenigwwere mule, wheresain 1004 the
dorrgeponding fizure was 45% (28% +
178}, BoF simplicity, sesume thul there
wered 00 eollrge students n 1975, 34 of
whom were male. Then in 1995, there
were 140 college atudends, 83 of whom
wrere male (45% of 140 = G3). 50 the rutie
of the number of male students in 14995
to the number nf mals studenis in 175
ia 83:R4 = 746

[LINE GRAPHS

Line graphs denotc bow a quantity chatipes
continuously, Very ofteu ihe guantity iz
meaasured ss time changes. [f the line goos up,
the quantity is lncreasing; if it yoes down It 15
decreasing: if it is horizonial then the quanlity
is not changing. To measwre the height al a
point on the praph, yoor 2ves should acs a8
gufficient moans.

Example: Study the following graph

carefully and answer the questions given
below it
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1. What was the perventape incrocaze in
ineome fram 1985 1o 18897
) 1M} thy 2h
(e B0 & ™
iy none of theea

2. In how many of the given veare way the
income mare than cipenditors”?
{z) one i two
{u throo i four
ted none - of thage

3. In how many of the ziven yeava was The
difference betwesn income and expendilure

ahout Ba, & crovea?
{a} one bl two
() three Wl four

{ed nome ol these

1. Whach wears has the difference hatornen
incoma and expenditure about Bs, 10 crored
(a) 1U87 & 1980 (h) 1990 & 1991
(] 1988, 1990 & 1991 (d) 1956 & 1990
fod 1988 & 1991

2, If the differonee hetwoon 1the inéomé and
expenditure was considered @s pfofit)in
which of the following vearg was the vafe of
loss maximum?

{1} 1988 (by 19980
iy 1997 (D (1957
) none of these
Suvlutions;
L () 7% (Approematalvgfrorn 13 croves Lo 0
Cpopes).

I (b} Theo dpecme Will be more than the
cxpenaittiee i Lhe line denoting income
iHoldcrline) liea above the line denoting
axpenditure (dotted line). Thiz iz
happening only in 1986 znd 1957, henee,
AnSwWer 157 2 yoars.

4 ey Five yvears (none of these), Exeepl for
1984, when both income and
expendilure equal each other, in ull the
ramaining yeara the gup hetween the

I A A s A L O LGl LA N Eiﬂl} LiL
b units on the scale.

4 () 198G, 1000, 1991

F. () 1991, [when sxpenditare exeneds: the
ingne by the lareest rap).

|BAR GRAPHS|

Guantities can be compared by the height @r
length of & bar 1n & bar graph. A bar gravhean
have esther vervtivel or horizontal bare. Yot can
compare differen) quantity or the Zame
guantity at diffcreni times, Use yoftr pencilier
zpiece of papor to eompare bars whach ate not
adjacent to cach other.

DISABRILITY BENEFICIARIES REFPORTET}
AR REHARILITATED

(mumhber, as pereent of gll rehabilitated clients
of atate vocationalfrehabilitation agcncies,
j'ear'g-ul 2a5-197170.

T

1570

1. Hem-f;:gn 1967 and 1971, the largear of
dizability heneticiavies were reported as
rehabilitated fn the vear,

(a) 1987 i) 1970
A 186 (&) 1971
{ch 1055

2. Between 1955 and 1965, aboutl Tww mny
clientz were rehabilitated by alate
vocaLiomal rehabilitation asencies?

(ray S, 000 ) 100000
(b 40,000 (ed 1000000
i 1.000.000

Solutions :

I e The anew eT 75 (C) ainee [he lighest har is
the bar for 1971, The pereentage of
dizability boneficiaries sut of all
rehabilitatd chients was higher in 1969,
Lul the number was knver,

2 {2y 1.9% of those rchabilitated wore
digability beneficiaries, and were dhout
19,000 disskility  heneliciarics
rehakbilitated. e 7 Tix the total tomber
rehebilitated, then F49% of T = 19,000 or



0197 = 19.000. Thus T = 190000017 =
1,006,000 and the duswer 15 ()

CUMULATIVE GRAPHS

You can compare several categories by 4 graph
ol ihe cwmulative Lrpe, Theso are usually barar
Line graphs where the height of the bar or lins
iz divided wp proportionately among dillerent
quantitics.

Dircetions: Folowing bar diagrom shows the
monthly expenditure of i fomilies A& B on
food, cloifiing, cdueation. fuel, howse rent and
wiscellaneoys i pereetoges).

Ll

o — -
it
0% 1

0%

O Fan an rJ:uﬂhclu# Fuel . Igues 2wnl O Mo lanacue
. t

"I-"'r hrst {'ractmn ot the Lolul exponditure 15
spent on educalion i Zamily A7

13 2
)] = 1) 3
0
() a (dy none of those

3 If the toral expenditare o family B Qs
He. 10000, then woney spent on clothes by
this *nrmily during the yoar s
(a) R 200 {by Ra, 304
(=) K, 2004 (A Rs G000

3 [ wtal annual aspenditure of famde A
i Re. 30000, then meoncy spenl on feod)
clothes and heuse ront ia:
a1 Rz 18500 (I REs. LBO0GO
(o [z zlooc (D RefT5400

4. I both the fomilies have same cxpend:tare,
which one speirds move on educalion and
mienellancous topether?

) A

) B

{1 Both spend equal amounls
(@ none of theae

5 Whal percentage s 3's expenditure on food
over A'a exponditure on [ad. taking equal
bobat expernditurs?

{zy 10% by T0%
{or 133.33% idy TE%
Solulions:

1. Q1 Money spent on cducative by lamils A
= (BY - 45) Le. 20% of total sxpendilugc

20
=10 rf tatal expenditurs

I
. of the total cxperditure.

A ) Montsy epent on clothes Wy family 19
= (B — <10 % of total expenditire

e 20 0000 Rs. 2000,
100

9. (b Menev spant hE Adin food. clothes and
honse rent
= [H04(18 - 300 M0 — 75)] % of wial
cvpenditees .

&0

=(ADeE s OO0 = s, {ﬁ xﬂfmiw
= Ha (2800

4 ooy Boney spent by A on cduestion snd
miserllaneous
D68 - 43) + (100 8014 = 30%.

Money spont by B or educaiion &
mascellanomes
= (76 — 60} (100 95)]% = 20%
5. i O's s:xpﬁndmure o fand = 40%
A expenditare on fond = 30%
[ 40 .
T's percentage over A5 = =?‘j><lU{J

= 133.53%.

QUESTIONS

[Yirections: Strdythe jable ond auswer
the guesiine recarding opoiion palling -

Fritpiez O Voting e efferent Totel

Kor et
Ifen ] T 250 1350
Wamern), 45t 1250 50 1750
Tatal HH} 2000 LY L.ﬂ i)

1. Which of the L"uliowin g zonclusions drawn
is most corroct !
fa) 10% peaple did not take part in the
poiling
fh) Women sre less mtorested in polhing
as compared to men
fr) Polling have beoome unpopular in Indis



[y Erdo - TRl pile woledd rial Th Tainde O1 The
parly

Dircetiona: Studyv the felie oed eowaer

the quesfion.

Yer1r Flrin's ety Proveeds

A0
BB
1480 A500 S0
1930 TG0 BIHH)

EILLY
R K}

1oae
1650

=

Whick of the fitlreing sonelusion s noc

true ?

) Thore has bevn a steady growih a
“age profit of the firm

foF Inenmo n? the firm bocomes double in
dlvears

fe) Pereentage profit in 1980 waz 17.0%

fef] There ix 117.685% Deresse in the
pxperes ol e lew fown 1980 Lo 1990

. Fre Lho purpnae of proparing 0 pic-chark

the {mwernment’s  axpenditures  on
differcnt heads tn angles are given bolow,
Stuedy them and anewer §, N, 4.

[ndwatrics e
Transport Bl
Sncial Services (S
Agricubtarg 458
Prawnr 457
lmvrenknries A
Small acale industries [ £
Ierigation L

The statemsent whicl iz not tpmis

frr Expenditure on transport apdisccal
gervice combined 13 15 of the toral
exponditure

(B} Expendiiure un indusbres 1z triple
that of agricalione '

fe; Exponditurefen isv gation is 2506% of
the total cxponditure

feip 26% of hudget Tampent on industrics

Directions: Sty The graph oad afienmpt

qreestiofl o, .

Mo Exportdmport of India
&0 =
Al
A
f M
ED—/\ _,_,-/
PR o
18— x
I R N N |
BPMAMISASEOIHNI

.

P LRLA TR LA DA A LD el L) el VL. L AP Ll LT ALL

the graph?

i) fmpore
Tavorable prospoerts .

) loport wes maximum in July bul
minimum in January

fr) In July export war miomum st
mpark wis mEANIIEm

iif) Exportand mporl hoth were @qual in
April and Nacamher

Study the ollowing pie chacisnd athempt

the following questions :

Expenses of a family:

1. Clolses

2. Vesctables

3. Ment

and  export beth bave

4. Tent
8. Perrol
6. Uhamrs

V. Feodyrons

Whicheonclusion hased on the dingram s
tre here?

fyd VRfitnacs on foodprering ia less tharn
thnse on rent and petrol

(B} Expenseson clothes and veretaules i=
grcatcr than om rent, perral and
wlhsers

feb 203 of the famiiv's income is spent or
all except fond grams

{d} Egual amecunt of money is speni on
vegolahiog sed nueat

Toeome of a person feom diflereon sources

is cxpressed through the following pie

chart., Stody thom snd L

follewing question

Servies

Rent

Rank interssc

Company shures

Commission on hocks

Wilc'a salare

. Bale of wastea

With the help of the above pie chart which

of the conelusions cannet be drawn?

) Coantmbunon of renl, toueeesl, shars
and coonmiszinn 1= more thar 4 ed che
tatal 1reome

fh} Hiw aalary iz less than hia whic salary

ANEW T

R



fo} Income from service and rent puc
together muakes an obtuse angle ina
pie chart
o) Hia wile's sulapy is less than the
income vhiained from rernl
Dircations: Poprlelion gromik in fndic os
gl through a bar diagram. Study o and
anser the queslion Mo, 7

00 |—

90 b
a0 — — r
T —
&0 |—
83—
A —
30—
&0 —
L | I

Propulaticn in Orore:

LSEL 221 7931-1941 1951 1961 1H71 19K

=1

Which of the following conclusinns s nat

frua?

izt Average annual increase of Tndia's
populition is abnul voe erove

{1} Population of Tndiz in 199012 expentad
to rize by LO% or more

fe) Population in India it 1901 must have
been lews than 23 crores

fell Grrowth rate of population from 1931
to 1961 is rmaximing

£, Runs scored by three playors in 6 aikehes

ave given below, which plaver vou wodld

like b selend, us a captain of €the téam?

Players I O IV VI
A 0 15 #88y 800 5 35
B 0 B B @5 57 AN
C 10 150 20 410 1 an

fa) C.because of his average
th) D, hecauseelus average and conais-
tendey,
fof O and Btk
{f ) end T3 both
Direetions: Sfidy the groph mud answer Uhe
qleesiiorn o) 9,

Fuia's prsitizne

o~ e
-
/

* e

£

H\.\ _— .'x:al:-:l'JJ [ATTIEY

=
I

(=] L=

Treome of Bxp
jim Laal's)
=
I

far)

| ] 1 1 1
TR LRTS TRAD 1948 1000

8. Which conclusion is nor frus 7
fa} Profit of the [ wes minimusiew
1380 and maximuwemn in 1585
) Bate ol inerense in inconws ix leasthan
that of ineregse in expondttIss,
1550
(i} There 1s o dirscr pgl@tiodbatwesn
ineome and expenditure after 19580
(2) Al of the above
Diirections: The folloiims (bl slinus the
vaine of exporls Froft Mooy e fable
il apscer e gulkiior..
Bxowh! o s rropay

Cditry f£86ial 1097071 58051
1.8 i L) [ {11 1012
a4 11a3%8 21754 FE L
Ilussia 1658 20855 410459
Jupian 2T 20313 HTN A
Germany - 3231 23424
Malasiva 5hi 1173 aheg
Pakistan 432 a i} 106363
Tabal inr_'.luding GONG1 153516 R

other countrics
10, Which of the following conelusions iz
aorTect?
(@) Total  exporl  between
increaged by abaat 200%
fh) The relulive shiare of the UK and T5A
wetll down comaidorably to Lbe Lutal
CXpOrt
fed Jupan became the major importing
country from Endia in 1950
) The shave of these seven countiics
was mere than balf to the tetal expost
during the whoele period
11, Study the tuble and determine the siate
which has recorded masimum jrvpro-
vemenl in output fivm THEL to 19977

1870-50



Export in Bs. crores

Siqte 18] 1871 351 1891
TP 261 271 a5l F30
Bihar il 1G5 155 205
M Aa0 0 20 a0
AP 141 L43 180 111
Punjuly 4700 4490 Bac a8l
Harvana 410 50 . 960 T30
W. Bengal 150 240 i o] 170
o) UI. f&) Pumab

{r} Haryzna fif) W. Bomeal

12, Darthe bagisoftheabove table which state
‘Hues not record any improvement in ite
nutput?
fd UP for AL
fc) Pumab fely XLE.
1%, Study the fallowing table and deterrune
whase overall performance i hest umong
the throe.
Subject A% Marks By Mocks O Marks
Mathe a0 40 i
English £ ol 45
Sedencs 20 40 441
SBoe. S, A0 % 40}
GE an a5 35
Hinds a0 0 11

f} A

h) B

(&) C

fd) Cennot be determined

14. On the hasiz of the data givemabowe which
of the following conclssians is coxrect ?
f) [Bnglish is an edsy siibject for A
/b)) Ahasfailed in 3 subjects but B in only

o
{c) Performande of &in Englich is twice
that of Maths
{d) None of'the ahove
15.

In the)foPawing fipure determine Lhe
vl of 5. ¥

-
/_.
EEEED U RN R R

o m o = B SR AR G

16.

17.

18,

fad =% (B A+Y = -4

fe) A-2=% wp X=—% 12
Whiel: of the fullowing figurca docs not
represent a linear relationship hebwocn
the variahlas X and Y ¥

A - H

e

C $

fal A i B

w C () 47

Value of conslund X and ¥ are 1go 5 vespec-
tively i a linear relatiguship find the
maeeing vilue of ¥ in the following table
p: Y

3

& 4

w4

T
k)

4 2]
5 27

{o) 3 ) 7

el 13 {ef} Meone of thesc
According to the survey of area A and B
thefolimwing records wers collected. Study
the records and determine the cone usiun
wlich ia not eormect F

e B O Buas Skhs damns Thldd
dus Ams M

Area s
Ao B

B 103 12%  13% 26 11% J2s00u
w18 I @ MW M Jo0in

19

There is a difference of 1540 Hlindus
between these bwo areaz
Number of Parsiz in area 4 ia equal eo
that of Christians in area T
(b Tlindea  rcmained  the
commimity 1o bulh the arcas
td} Al of the above
According to the survey of 2000 cducated
unemploved persons in which 1200 were
men and 800 were women, the following
data were eollected:

iz}
{t)

largest

Ee il nciton

Unamploped
[FRARIrE LNy

[irem o
Men

Dactors

Cngineersy
Trained Teachers
Postgradunates
Graduates

12.5% 15%)
20% T
15% 22.5%
29 Rl 5%
LR %




Uc the basms el the abews table what wthe
difterencs i the namber af unemplnyad
men il wonen doobers?

2 According Loguestion 2o 19 wna s the
wolad umber ol unemploeed g lunies?
ial 125 (ol 1Th
i) 330 i) Vi

EXPTLANATORY ANSWERS

) 20 ¢h) 30
for 40 idi Mone af thesae
W0 = L]
L (dy: % - 61.5%

2 ek Firw's prall = Bevecue — Expe nees
= BADN — 45300 = 904,
Mo peroensage 1'|.1-nﬁ1.'.=%I:II_IJU";]I =16 G0

i bk Expenses on mmdustries =40 and that
af Agriculturc = 453
Soic s only deuble, TIere 360~ = 100,
180" = 504 and Q0 — 25T
[muport sl exporl both are =0
Ducluaiing Lhinl oothug can be waid
about futwic prosncct deficdkely.
Aren shown on the basa of the degres s
tzken into acconnt here. The line that
cut the cuele inke twa halves means
division of 30% wnd 50% whle un arcof
80" ;ngany vne-fourlh.
Sim Lhe wngle is net pven here so
nething vaw be a0 su seeursately.
Only estimation is possible and nothing
¢an be definitely said abeut futuee.
Firr beroer pevicemance not only
AVETAZE i i ot Nk hut ionaisteney is
much more important. Uansiarency
means difference betweaon the highdst
goore and the lowest scarc frnlige)
should by minimom  witheglcose
Menslvimlion in staideticnl langnaoge.
Fxpsoehiure w lughly Qoclosuting so res
latiouslup 19 nu dureer,
10, (b The cxport to UK. andeb&Sa from Tndis
1 inareadtg wodoubtedly Bul not a0
much 35 1t iz Incrdasinpg in case of other

4. (n)-

5. {b):

6. {h:
7. (b):
B. (k)

8. (r):

five conntries
1. (d):

Sinte 185 1977 18g@ 194)
1.r. d 3 4 0
Bihur ) 13 g &
ME 3 A 5 !
AP 4 T il i
Eonjah I ] 2 4
Harvana 2 Z 1 1
Wi Brngal o 3 4 3

The ahowvs talbde shows dhes thevank of
W Bengwl was Bele 1 19681 wlich
brogmoes #rd in 199 The ntlher statos
ure not showing so much improve:nent
in thowr perfarmansg,

12, (h) AT rank was Teboin 193] wlurh zetill
Tl 1991

L3 Aoy &, B o] O msan imarks e ogege] but
s P IH Al - U= e
B rubgs 45 — 20 < 26
5 rooge 13 43 - 35 =10
Standard devianonde-T be % imum
i oease o A then come: 3 4t least SO
will be thers in cas=“af:’

14. iy None ol the conclusions ar
bersinse
fr) Puage maplting@ach subyeur has not

kesfvmen.
find Back subpeer micasure: cifferenk
Lvpes ol gbilices,

o Bourd® in o porusular subgect
depend nob only v uhe nature of the
byt Iwet other variahles like,
interest, aptituile aaeblpd of
fcachina ote. alsn afitot annros

L5a) Fror O ko Lae lefe 1z the minus sign of
Xoavd X iz 3 peint less than Y.

18. (1i): In 1 linear moiationstip f one vorialle
increazes by a censtant smount the
corTes-ponditg Inorease I1n the aothesr
wiriahle is alen eonstant.

1T e Valus wf Y =1 11X 14 1x=d— |3
Inereaer n X fsoune Lol 1, 2, 3, 4, 8,
and imoreasn in Y e d, e 50 1517, 21

el

L 13w 3500
18, (b ) T = 440 Pacss
L 17=As0G
17 Ay A0 Chrislians

Thus they are nat aqual.
19, (bl (12 5 = 13000/100 150 men
C1R o " 00 = 1205 wonten
e rnnee = [ — 1200 = 20
20, (e} (37 £ 12000100 = 350 {30 = 3000 100 = 2470
360 + 240 = GO
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